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29

Vln. I

Vln. II

Vla.

Vc.

Db.

&
∑ ∑

ff

&
∑ ∑

ff

&
∑ ∑

ff

&
∑ ∑

ff

B ∑ ∑

ff

B ∑

ff

?

ff

divisi

ff

?
∑

ff

?

ff

œ

r

≈ ‰ Œ Ó Ó Œ

œ

≥

>

œ

r ≈ ‰ Œ Ó Ó Œ ‰ œ

≥

>

j

œ

r
≈ ‰ Œ Ó Ó

˙

≥

>

œ

r ≈ ‰ Œ Ó Œ

˙

≥

>

.

œ

r

≈ ‰ Œ Ó
w

≥

>

œ

r
≈ ‰ Œ Ó

w

≥

>

w

w
>
≥

w

≥

˙
˙

≥

>

w

w

≥

>

w w

w
>
≥

w w w
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°

¢

33

Vln. I

Vln. II

Vla.

Vc.

Db.

&

ff

ff

ff

&

ff

&

ff ff ff

&

ff

B

ff

B

ff

?

ff
ff

?

ff

?

ff

œ

œ

≥

>

˙. ˙

œ

≥

>

j

œ

œ

>
≥

w

w ˙ ˙

≥

>

w

w

≥

>

œ
œ

≥

>

œ œ

≥

>

œ w

w œ œ

≥

>

˙. w

w
w

>
≥

w

˙. œ
œ

≥

>

w w

œ
˙

≥

>

œ

≥

>

w w

˙ œ

œ

≥

>

œ w w

œ

˙

≥

>

. w w
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°

¢

°

¢

D

Delicately (q=90)

(V. Reflected ripples)

36

Vln. I

Vln. II

Vla.

Vc.

Db.

38

Vln. I

Vln. II

Vla.

Vc.

Db.

&

unis. sul tasto

sub ppp

&

unis. sul tasto

sub ppp

B

unis. sul tasto

sub ppp

?

unis. sul tasto

sub ppp

?

sul tasto

sub ppp

&

pp

&

pp

B

pp

?

pp

?

pp

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

w w

œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

w w

=
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°

¢

°

¢

40

Vln. I

Vln. II

Vla.

Vc.

Db.

42

Vln. I

Vln. II

Vla.

Vc.

Db.

&

p

&

p

B

p

?

p

?

p

&

mp

gradually move to natural position

&

mp

gradually move to natural position

B

mp

gradually move to natural position

?

mp

gradually move to natural position

?

mp

gradually move to natural position

œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
œ
- œ

- œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
-

œ
-

œ

œ
œ

œ

œ
œ

œ

œ
œ
- œ

-
œ

œ
œ

œ
œ
œ

œ
œ
œ
- œ

-

œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
œ
- œ

-
œ œ

œ

œ œ œ

œ

œ œ œ

œ
- œ

-

œ
œ

œ
œ
œ

œ

œ
œ œ

-

œ
- œ œ œ œ œ œ œ œ œ

-
œ
-

w ˙ œ

J

œ œ

J

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ
œ
- œ

- œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
-

œ
-

œ

œ

œ
œ

œ

œ

œ
œ
œ
- œ

-
œ

œ
œ

œ

œ
œ
œ

œ

œ
- œ

-

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
- œ

-
œ œ œ œ œ œ œ œ œ œ

œ
- œ

-

œ

œ
œ
œ

œ

œ
œ

œ œ
-

œ
- œ œ œ œ œ œ œ œ œ

-
œ
-

w ˙ œ

J

œ œ

J

=
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°

¢

°

¢

44

Vln. I

Vln. II

Vla.

Vc.

Db.

46

Vln. I

Vln. II

Vla.

Vc.

Db.

&

nat.

mf

&

nat.

mf

B

nat.

mf

?

nat.

mf

?

nat.

mf

&

f

&

f

B

f

?

f

?

f

œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ œ

œ

œ
œ
œ

œ

œ
œ

œ

œ
œ

œ

œ

œ

œ
œ

œ

œ

œ
œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ œ
œ

œ

œ
œ

œ

œ

œ

œ
œ
œ
œ
œ

œ
œ
œ
œ
œ
œ

œ œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ œ œ œ œ œ œ

j

œ œ

j

œ
œ

œ

œ

œ

œ

œ
œ
œ
œ
œ

œ œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ œ œ œ œ

œ
œ
œ

œ

œ

œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ
œ

œ

œ
œ#
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ

œ œ œ

œ œ
œ

œ
œ
œ
œ
œ

œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ

œ

j

œ

œ

j
œ#

J

œ
œ

J

w

=
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°

¢

°

¢

48

Vln. I

Vln. II

Vla.

Vc.

Db.

E

(VI. Distortion)

50

Vln. I

Vln. II

Vla.

Vc.

Db.

&

divisi

move to sul pont.

move to sul pont.

g
li

s
s
.

g
lis

s
.

&

B

?

?
gliss.

&

sul pont.

mf

g
liss.

gliss.

&

divisi

mf

sul pont.

g

l

i

s

s

.

g
li

ss.

g

l
i
s
s
.

&

pizz.

mf

3
3 3

B

pizz.

mf

3 3 3 3 3 3

?

pizz.

mf

?

mf

pizz.

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ ˙

>

˙

>

œœ

œ
œ

œ
œ

œ
œ

œ
œ

œ
œ

œ
œ w

>

œ

œ

œ œ œ

œ

œ œ œ œ œ

œ

w
>

œ œ œ
œ

œ

œ
œ

œ

œ œ œ
œ

w

>

œ

w

>

œ
˙b œ

˙b

œ

˙# œ<n>

œ

œ<n>

Œ
œ œb

œ<n>
œ ≈ ‰

œ œ œn œ ≈ ‰
œ œn œ œ ≈ ‰

œ œ

Ó
œb

œb
œ ≈

œ

œ
œ ≈

œn
œn
œ ≈ œ

œ
œ ≈ œ

œ
œ ≈

œ
œ
œ ≈

‰
œ

J

œb

œ

‰
œ

J

œ

œ

‰

œb

J

œn

œb
‰

œb

J

œn

œ

œ

J
‰

œb

J ‰ œb

J

‰ œ

j

‰
œb

j
‰

œn

j
‰

œ#

J
‰ œ#

J

‰

=
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°

¢

52

Vln. I

Vln. II

Vla.

Vc.

Db.

54

Vln. I

Vln. II

Vla.

Vc.

Db.

&

gliss.

gliss.

&

g

l
i
s

s

.

g
li

ss.

g
l
i
s
s
.

&

3 3 3 3

B

3 3 3 3 3 3 3 3

?

?

&

(nat.) pizz.

p

&

pizz. (nat.)

sub p

&

sub p

3 3

3 3

B

sub p

3

3 3

3
3 3 3 3

?

sub p

?

sub p

œ#
˙ œ#

˙

œ#

˙n

œb

œ#

œn

œ#
œ≈‰ œ œ

œ
œ≈‰ œ œ

œ#
œ≈‰

œ œn

œ#
œ≈‰ œ œ

œ
œ
œ# ≈œ

œ
œ≈œ

œ
œ≈

œ
œ
œ≈

œ
œ
œn ≈œ

œ
œ≈œ

œ
œ≈

œ
œ
œ≈

‰ œ#

j

œ

œ#

‰ œ

j

œ

œ

‰ œ

J

œ

œ

‰ œ

J

œ

œ

œ#

j

‰ œn

J

‰

œ

J ‰
œ#

J
‰ œ

J

‰
œn

J
‰

œn

J ‰

œ

J ‰

‰

œ

j

œb

œ
‰

œ

j

œ

œ
‰

œ

j

œb

œ

‰
œ

j

œ

œ

œ

j ‰

œb

j ‰ œb

j

‰
œ

j
‰

œ

j
‰

œb

j
‰

œb

J
‰ œb

J

‰

œ
œ
≈‰

œ œb

œn
œ
≈‰

œ œ

œ
œb ≈‰

œ œb

œ<n>
œ≈‰ œb œ

œ
œ
œb ≈

œ
œ
œ≈œ

œ
œ≈

œ
œ
œ≈

œb
œ
œb ≈œ

œ
œ≈œ

œ
œ≈

œ
œ
œ≈

œ œb œ œb œ œn œb œ œ# œn œ œ#
œ œ œ œn

œ œb œ œb
œ# œn œ œ#

=
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°

¢

°

¢

56

Vln. I

Vln. II

Vla.

Vc.

Db.

58

F

(VII. Ripples reflected)

Vln. I

Vln. II

Vla.

Vc.

Db.

&

arco (nat.) trem.

mf

&

arco (nat.) trem.

mf

&

3 arco 3 3 3

mf

B

arco

3 3 3 3
3 3

mf

3 3

?

mf

?

mf

&

p

unis.

pp delicately

non trem.

&

trem.

p

non trem.

pp delicately

B

trem. (non div.)

p

pp delicately

non trem.

?

arco trem. (non div.)

p

non trem.

pp delicately

?

arco trem.

p

pp delicately

glis
s.

‰

æææ
œ

j

ææ
æ
œb

ææ
æ

œ

‰

æææ
œ

j

ææ
æ
œ

ææ
æ

œ

‰

æææ
œ#

j

ææ
æ
œn

ææ
æ

œ#

‰

æææ
œ

j

ææ
æ
œ

ææ
æ

œ

æææ
œ

j

‰

æææ
œb

j

‰

ææ
æ
œb

J

‰

ææ
æ
œ

J

‰

æææ
œ#

j

‰

æææ
œn

j

‰

ææ
æ
œn

J

‰

ææ
æ

œ#

ææ
æ

œn

œb
œn ≈‰

œ œn

œ#
œ≈‰ œ œ

œn
œb ≈‰

œ œb

œ
œ≈‰ œb œ

œ
œ
œ≈ œ

œ
œ≈ œ

œ
œ≈

œ
œ
œ≈

œb
œ
œb ≈œ

œ
œ≈œ

œ
œ≈

œ
œ
œ≈

œ œ œb œ œn œb œ œb
œb œ œ œb œ œn œb œ

œ œ œb œ
œb œ œn œb

ææ
æ

œ

ææ
æ

œb

ææ
æ

œ

ææ
æ

œb

æææ
œ

æææ
œ

ææ
æ

œ

ææ
æ

œ

ææ
æ

œ

ææ
æ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

ææ
æ
˙

ææ
æ
˙ œ

œ
œ
œ
œ
œ
œ
œ
œ

œ
œ

œ

ææ
æ

˙

˙

ææ
æ

˙

˙

ææ
æ
œ

ææ
æ

œ

ææ
æ

œ

ææ
æ

œ œ œ

œ

œ œ œ

œ

œ

ææ
æ

˙

˙n

ææ
æ

˙

˙
œ

œ œ œ

œ
œ

œ

œ

œ
œ œ œ

æææ
˙n

æææ
˙

ææ
æ

œ

ææ
æ

ææ
æ

ææ
æ

ææ
æ

ææ
æ

ææ
æ

ææ
æ

=
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°

¢

60

Vln. I

Vln. II

Vla.

Vc.

Db.

62

Vln. I

Vln. II

Vla.

Vc.

Db.

&

p

&

p

B

p

?

p

?

non trem.

p

&

mf

&

mf

B

mf

?

mf

?

mf

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

œ
œ
œ
œ
œ
œ
œ
œ
œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ œ œ œ œ

œ

œ œ œ

œ

œ

œ

œ#
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ
œ œ œ

œ
œ

œ

œ

œ
œ œ œ

œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ

w w

œ
œ

œ
œ
œ
œ

œ

œ

œ

œ
œ

œ œ
œ

œ

œ

œ
œ

œ

œ
œ
œ

œ

œ

œ

œ

œ

œ

œ
œ
œ

œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ œ

œ

œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

œ

œ
œ

œ

œ

œ
œ

œ
œ
œ
œ
œ

œ
œ œ

œ œ œ

œ œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

œ

J
œ œ#

J
œ

j

œ œ

j
œ

j

œ œ

j

œ œ

=
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°

¢

64

Vln. I

Vln. II

Vla.

Vc.

Db.

66

Vln. I

Vln. II

Vla.

Vc.

Db.

&

&

B

?

?

&

&

B

?

?

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
- œ

-

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
œ

œ

œ
œ

œ

œ

œ œ
- œ

- œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ œ

-

œ
- œ œ œ œ œ œ œ œ œ œ

œ
œ

œ
œ
œ
œ
œ

œ
œ
œ
œ
œ œ

- œ
- œ œ œ œ œ œ œ œ

œ œ œ œ œ

J

œ œ

J

˙

œ
-

œ
-

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
-

œ
-

œ

œ

œ
œ

œ

œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
-

œ
-

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ
- œ

-
œ

œ

œ

œ
œ
œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

w w

=
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°
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68

Vln. I

Vln. II

Vla.

Vc.

Db.

70

G

Vln. I

Vln. II

Vla.

Vc.

Db.

&

&

B

?

?

&

trem.

p

divisi

(non trem.)

&

p

B

p

trem.

?

trem.

p

?
trem.

p

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

w w

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

æææ
wœ

œ œ
œ œ

œ œ
œ œ

œ œ
œ œ

œ œ
œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
œ œ

œ œ

œ
œ œ

œ
œ œ

œ
œ œ

œ
œ œ

œ

œ

œ
œ

œ

œ

œ
œ
œ

œ

œ
œ
œ

ææ
æ
wb

œ

œ

œ
œ
œ

œ

œ
œ

œ

œ

œ

œ

ææ
æ
w

w

ææ
æ
w

=
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°

¢

72

Vln. I

Vln. II

Vla.

Vc.

Db.

74

Vln. I

Vln. II

Vla.

Vc.

Db.

&

unis. (non trem.)

mf

trem.

divisi

p

(non trem.)

bb b #n

&

mf

p

B

mf

non trem.
trem.

p

?

mf

non trem.
trem.

p

?

non trem.

mf

trem.

p

&

p

unis. (non trem.)

3

&

p

B

p

non trem.

trem.

?

p

non trem.

trem.

?

non trem.

p

trem.

œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ
œ

œ

æææ
œ

æææ
œœ

œ œ
œ

æææ
œ

œ
œb œ

œ

æææ
œœ

œ œ
œ œ

œ# œ
œ

œ
œ
œ

œ

œ
œ
œ

œ

œ
œ

œ
œ œ

œ œ
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H

Vln. I

Vln. II

Vla.

Vc.

Db.
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Vln. I

Vln. II

Vla.

Vc.

Db.

&

p

p

&

p p

trem.

B

p

non trem.

p

trem.

?

p

non trem.

trem.

p

?

p

non trem.

(sempre non trem.)

p

&

&

p

trem.

p

trem.
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?

?

p p
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rit.

Vln. I

Vln. II

Vla.

Vc.

Db.
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Vln. I

Vln. II

Vla.

Vc.

Db.

&

p

p

&

p

trem.

p
sempre p

trem.

B

(*)

?

(*)

?

p

(*) During this rit. the tremelando in the

Violas and 'Cellos must slow until it reaches

the speed of the y rhythm in bar 83.

&

&

B

(non trem.)

?

(non trem.)

?

p poco staccato p poco staccato

œ
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Distant (q=48)

(VIII. Light Music)

84

Vln. I

Vln. II

Vla.

Vc.

Db.

85

Vln. I

Vln. II

Vla.

Vc.

Db.

&

sul tasto

p gently pulsing

&

p gently pulsing

sul tasto

B

sul tasto

p leggiero

sim.

?

sul tasto

p leggiero

sim.

?

p leggiero

sul tasto

&

&

B

?

?

p
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87

Vln. I

Vln. II

Vla.

Vc.

Db.

88

Vln. I

Vln. II

Vla.

Vc.

Db.

&

&

B

Solo trem.

p

gliss.

B

divisi

gli altri

p

sim.

pp

?

p

?

p

&

pp distant

sul pont.

∑

U

&

pp distant

sul pont.

∑

U

B ∑ ∑

U

?

p

Solo I trem.

gliss.

∑

U

?

divisi

gli altri

pp

Solo II snap pizz.

«

f

∑

U

?

pp

Solo

(Solo) pizz.

f sonorous, with vibrato

l.v.

∑

U
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R
≈ ‰

œ œ œ œ œ œ œ œ
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